AT R FTAEI R IR RBET RO IF
109 & % 4 F Z R~ % &
TRREEP R ~EAEE
X R NNk
— ;EE] :
R AR (TSP~ PM1o ~ | p iw] = FR) B ARR) < HOR AR
PM25)~SO2~NO2~ 8 & ~ BE R
BE SR Rh v TSP~PMio~PMas~| 4 B3t < T R~ BHE L2 2 PR EREZF &
PENT SO2~NO2~ B & ~ Frﬂ/?/é' e TSP\«?HQ%}’ 2= PR 2 PMp
i BE SR b ow PIELEREF- K 24 ) PETR o HapE s
SRR A B R .
. s /E
PRk 3z
= VR -~ ERE
& FT- g 24 ] ) e P = - TR E*#E’Y‘]'J LT R
F& Bl (FLFLEL*JL T F‘Iﬁﬁ CERE
) TSP24 | p i 77~126 69~126 69~123
(ng/md)
PMio p -T2 7& s _ N N
24 1. B & (ug/) 23~94 28~99 34~112
PM2s p T i5iE _ - -
NO2 &« /| PF " _ -
= 457 (ppm) 0.063~0.079 0.063~0.067 0.057~0.067
B+
SOz |y prxsmg | 0014-0.030 0.017~0.018 0.011~0.020
(PPm) ™20 | 0.005-0.008 | 0.005-0.016 | 0.006~0.008
R (C) 22.3~27.3 22.4~27.6 22.1~27.8
B (%) 68.0~69.5 71.4~74.0 67.5~71.1
b i# (M/s) 1.5~1.6 1.2~2.6 15~2.1
10 » e & F o
R e 11 o At a A A g
12 » o A oA A
R 1
AE AT BRI 129 1321429 p 2. PMgk & (104~ 109 ~ 112
ng/md) @ % F &R (p T5m A 24 ) B A 100 ng/md) o § B AZ
ﬁ:,ﬂp n«%*%‘*’-—? Ja ¥ e - ﬁﬁﬁwﬁ’%éﬁa#%‘% A
RTREZ R FETERSE ¢ Z L BRE-FHERREE S
f#;“ﬁ:iﬁ'l':é«‘:i' 3 FrmAFF Y 2 &3‘; Rl (g B 2 = TR
RER) s B R RN A HRT BURIEE PMpoAZHE P 2. PMp T HEER
AR 120 29 pAZiE R F & IR (106 pg/m®) o B 4 4 kiR
e R PMok B2 R0 §f & FIRE -
127 PMioAZtRp R A T RURM T AR TV R A 2 R IFHAC
(PMig)2- 1 A2 18 % » ¥ < kT Fuor s B 1 & 2 i 5ok (PM2s)
B RFHOR(PMo) & 2E 7 R k2 ?1*% LRI & S R B
PM10 4420 B0 R w405 A2 G b » d Mﬂ’ v‘";‘i£ ERAE T I
Bl o B RIEE T H) PMigiBl A B 5 70~ 72~ 81 ug/m? > iR 45 B
BRI RS FIETRE EREC KRBT SEE TR

¥ 17



FRTRRE] L
7R E s 10-12 0§64 3 el 2 PMas k & (11-58 pg/) 3
*“"?w%‘r%‘ﬁ?(m PEARE 35 pug/md) - e iE- AR K
ﬁpq-"f“ r'r"Frp. Blzk o Ao BB R S :E}'F’;W Bk 2 "H‘/FWF *hEE 3

o B REE A E PMos 4 3 13~51ug/m E}P%W | Bl =k £ 3t 15~56

ug/m SRR A0 12~60 pg/mP e R B E F T2 A e 19
Vel % R AT B %Y 109.10.07 T AL * mg.;n AEF| koo P L
B RAE T~ 2 1091022 T~ fep ,};L;g_gg CEF S
BFEFFARNLILE § \%~1091211Fa BT ME ¢ LB R
Lo 22010912127 MBI RFLBLF ST REFEL
f’fffﬁﬁéf@%ﬁﬁ#u ~ 3+ 109.12.13 7 = # ;,. 14 pigly NETHL A

&f&%ﬁﬁis\wg’a;sﬁw%‘r ~ 31091214 TP ME

CEBARY Y eI R VET E_;‘/"g—,%,bf‘ 3+ 109.12.24" =
T oiE ti%‘#%ﬁi_,g,l‘ﬂ}m ~ 3t 109.12.25 T B 0 iF 4
T oRimF & st R, $ATEE T
& FJ$*K»%$:PM25$%?“$ SR AL R
F e

* l_{:’“"l‘_—p{ o

S*F

b

& X
e

519 ¥y %s*m
ﬁ’f\\\' - ’3@ SRy 'mh,

A S

ﬁﬂ“ﬂ%*’@

5
M VR g

It

Leq‘Lx‘Lmax‘La‘LrsL‘
Lf{
2. B

LVeq »Lvx > Lvmax > Lv s »

LV?{

poE
BB (- 5 F)
R

& FTp- =

- R ER

AT e B KB (- d )
E X 109.10.23(- p )
Leg> Ly~ Lmac~Ls~La~L e 109.10.24( 1.7 )
E723 LN <
o o 109.10.23(-< p)
vea ™ Ly~ Lymac~ Ly 109.10.24(% 7 )
- ~ERE
PN 1 BB (- )
L, 56.4
2 L . 49.9
dB L, 54.9
(A) B L. 51.8
L . 48.9
x5 Lvio» 375
;’f Lvio = 333
. L 4
dB g V10 » 36
Lvio = 32.6
R
Lwfd t AR LRRLERSHRIOVHE- BB FH - HFHHR
4 R -
2. ot I AT LR T RBESBY R L LT 2 ARDARYNE

TPz % - fA%

P S

>
»

R




It

N
Pl ) o
EP ~p Y ! B AR POHREL R Z BT
LR TP B
g gl R
ERTHES S 10.24(iE- )
BN
Lo r il B E s
. B3 [ 1WE [ SAF [ EpE | &P | i E
(4m €5D) €] €5D) (#8) |((PCU/hr)
AR 1227 | 1122 83 37 | 2460 | 115
P (L% 27 %)
ae
o 676 | 118 a4 | 3670 | 169
(kg 2|1
RN
oo lwams s 866 792 61 25 1744 81
e
o 091 66 37 | 2341 | 109
(i trmgy| 47| T
2. BB PRIRK B
L o B 4 FRA%-K 2
T _I- X T X _]- x T X
RN
ey lwainw) 486 % B A
R
(T 4D 141 414 A B
RN
o lwazs s 288 70 B A
R
o 247 A A
(L kemy| B
S P HRBRIEAZRECIEAEANALES
L. | BE [TuF [ <uF [Fpl | AP | AE
- €5D) €5D) €] €5D) (#8) | (PCU/hr)
72
N .| 5625 | 3384 | 200 | 1013 | 10222 | 531
(A& HREE)
PR
, .| 6715 | 5302 | 471 | 1212 | 13700 | 729
T (¥ HRB)
% | o0 | 6244 | 454 | 2486 | 17214 | 1009
(JLig % = B)
AR 11300 | o841 | 611 | 3222 | 25064 | 1442
(FLig % = B)
RN
B , 2991 | 167 836 | 8867 | 457
(i ki) | 473
PR
B .| 5382 | 4696 | 382 980 | 11440 | 612
P RCARIEY
A | esae | 5480 | 373 | 2124 | 14823 | 869
(»H—'/r' R = ﬁ-’é-)
RE
o o | 8843 | 480 | 2646 | 21258 | 1225
Giiii - gy 928
4, P FREL SR Z BT PRARKE
L LR PEAE K
n v b= - = b= < =
FRR
, , 811 1268 A B
P (GRS
o 1950 880 B A

(L® tE)




Bk

—_\J'EEI
pr&)ii"me‘i%‘\i >
EANLE-A T SR AR S 1
EE %% a-RFH
W BREZE£BGR
&~ 4R~ 4F)

BN 1

It

R T ES LRk
BT 1Rk
roeh 500 @ % 2 Eho &
4 =

SHER

FEeF- AHEED A

A
(it = B) 1825 1351 A A
ERE
(i - 5) 2044 1806 B A
RN
(L ) 636 1198 A A
e
) ) 1604 857 B A
g |OLY HRE)
A
(it = B) 1481 1183 A A
ERE
(Lim st - ) 1561 1348 A A
R
L pABRIAZTp 2 EPAEd e i & a2 48 53 o
2. P HRBLA T AT TP 2 EP AR RE S B E ]
R A EF -G R
-~ HFHFA
Bleb| igek v B | ERKERC | #azo oh 500 | ko ¢k 500
S8 B (Rl=k 1) (R 2) &' EGRIEE 3) | 2 7 AR 4)
pH N /% ))ﬁ > J\/J‘f". >
BE 2 ES
E-gfxta R
FEEmAR T 109.10.22
g23 82 ¢4
B~ &~ b
4)
= ~ERlE
Plek| kT BB B R RET e | Bz b 500 o | B2k r b 500 o
(Rl =k 1) (Bl =k 2) 2 iR 2E 3) 2 Jed(iR) 2E 4)
mp o R T AR R R AR AR RE AR YRR
'k (°C) | 28.2]285|28.6|29.2]287]28.6|28.9]|28.8]283]288]285]285
pH 80|81|81|81|83|83|82|83|83|81|82]82
FANNTU) | 26 |27 26 | 25|18 28] 243032271731
aimgl) | 717069797979 7777767979709
425 ¢ |<20|<20] (20 |<2.0[<2.0|<20|<20|<20[<20[<2.0][<2.0]<2.0
(mglL) |(0.7)](0.9)] (1.0) | (0.8)| (0.7) | (0.7) | (0.7) | (1.0) | (1.1) | 1.1) | (0.6) | (1L.0)
RiEAM | 24 98 (108| 99|84 |106| 85| 82| 7181|7382
(mg/L)
’*(f;f)a 99 |100|11.9| 18| 17| 19| 12| 12|10 | 13| 19| 13
@R (psu) | 30.7|33.2[33.7[33.9[34.2[34.0[ 341342342 343341342
i f?mi/i‘)i 115|124|137| 86 | 91 | 89 | 94 |107| 74 | 80| 81 | 7.9
A(mg/L) | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND | ND
&-(mg/L)  |<0.0005|<0.0005| ND |<0.0005|<0.0005|<0.0005|<0.0005| <0.0005| <0.0005|<0.0005|<0.0005| <0.0005
4(mg/L) | ND | ND | ND [ ND |ND | ND [ ND | ND | ND | ND | ND | ND
éﬂr(mg/L) 0.0094 | 0.0142 | 0.0122 | 0.0070 | 0.0070 | 0.0070 | 0.0082 | 0.0072 | 0.0073 | 0.0069 | 0.0072 | 0.0071
R
AEEPIHEZPH B F 275 2L 2 BGE A AR
BIDE & [ MRS ERESTHRE -

A4

» 4 F




Al R
— N jE 2
R R OEBRK
B2 YA
gl
LA SRl - R (1
1)~ kT e 1 k(R
o2~ Pk ¢
500 = % j&e 2 #H(RlxE 3
3 4) X 43
AR
FEEE - IHER A

N "*’-’1

— P

Jir

BlEh| ok T B RGBT | Rz ¢h 500 | Rz v ¢k 500
SR o~ p (B =k 1) (B =k 2) 2% FiplEk 3) | 2 % iRk 4)
eSS IS
kgL A 109.10.22
¥
SN ) B
1 #%5E5
Blzb| ok T B Rk | Rz ¢h 500 | Rz v ¢k 500
s (iRl=k 1) (Rl= 2) 2R LR 3) | o % iRl 4)
PER ~ FRE
A ¥R (cdlg/l) | 18,114~21,413 | 10,895~12,001 | 11,989~14,350 | 16,350~17,741
10 B (%) 9.91~11.71 5.96~6.56 6.56~7.85 8.94~9.70
HER 1.38~1.84 2.73~3.02 2.11~2.72 1.37~2.79
e R 2.51~2.86 3.64~4.68 2.23~4.49 2.76~5.52
ISED: 0.41~0.55 0.77~0.80 0.64~0.74 0.36~0.78
2. FHEP
Bk kT B | Rk | e b 500 | o ¢k 500
R~ R (ipl =k 1) (Rt 2) 2% Rl 3) | 2 iR E 4)
& (inds/md) 427 1,814 1,662 1,172
AR E R (%) 8.41 35.74 32.75 23.09
HER 0.91 0.94 1.24 1.34
eEHE 1.65 2.00 243 2.26
E=EN: 3 0.38 0.34 0.42 0.47
3. A2
Rk kT B | Rk | e b 500 | o ¢k 500
HR o~ TRE (Rl=k 1) (= 2) o % BBlEk 3) | 2 % BBl D)
& 4 48 £ (inds.) 0 1 9 6
A2 R (%) 0 6.25 56.25 37.50
PR 0 1 6 5
SRR - 0.00 1.68 1.56
eEH R - - 2.28 2.23
ESEN;: 3 - - 0.94 0.97
Rlab| iokrpg | R4k | e b 500 | #kr o 500
AR~ ERE (Rl =k 1) (R12E 2) 2% Pz 3) | 2 & iRk 4)
A4 48 € (inds.) 0 2 4 5
B2 R (%) 0 18.18 36.36 45.45
PR S 0 2 2 2
SRR - 0.69 0.56 0.67
eEH R - 1.44 0.72 0.62
ESEN;: 3 - 1.00 0.81 0.97




ERNg-2 1

1 st AEH 85 04460 LRk &
15,236+3,520 cellg/L

AT s R

FEER D AF RO 19 A 8 FER S LRI ER TR
B 5 1,269t624 inds/m® -
3 ARRAS I AF L 3M 916 B Bk

4 pdg: AEXesr 1P 24341 % -

LR

~JER O

PH~ £ & (7 ~ 45 ~ 48 -
IR = N 2
NS

tak TR CIE S
el d fp LS
SHER

T HEHFEE - X

- A

107 &4z jm 2 > (TR > @ 3R 2 S FRE

>
»

R



